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1. Wa, bEFHEGCHIW TR, Hyal 27, Ha®b = ba®, EH: ab =
ba .

2. WGREn T IUREE, reZH(r,n) =1, iEH: BUR
0:G—= G, p(x)=
MR G 2 —MFAS) .

3. (B0 T A e R
a. WpRE, Nphmmet — S ApMtR?
b. 35T —E S HM AT TR ?

c. HAMRMBEGER M1 mR M — 6By, WIEH30||Gl
FE B AFAE — B 301 B [F B & B N6 R B N0 SR, #
. iHEHE—H,

4. WG = GLy(R), HAHFITHANIERI TR T4, IEHZGH]
IERTRE, JFAKEHMG/H HHITER.

5. UEEA: BEGHIRECN2IFHE— R G IEM 7.
6. %G = {(a,b)|a € R*,b € R}, FeidE XN
(a,b)(c,d)=(ac,ad + b).
WiF: K ={(1,b)|b € RPEGWIEMTHHG/K 2 R,
7. AEREG x G'HITFEG x 12— ANS5CGHRMEM TR, H
GxG/Gx12dG.

RUAELLE F = F R L%



10.

WM, NAGHIEMF#E., EM NN =1, WXEEMe € M,b €
N, ab = ba-
WN <G, gRFGHERE IR, mEgHHM|G/N|HER, Wg e

NO

BWGR A IREE, HXnlIFEANHETm, GEZH —Pmbir 1 #,
W GREPEARE (LR .



